Примеры заданий
Примеры тестовых заданий с ответами
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I Примеры задания 1  
1. Выберите единственно правильный вариант.
    The home appliance and electronic goods industry is in …; the good years are over.
  +: boom
   -: profit
   -: increase
   -: value
2.  Выберите единственно правильный вариант.
      The amount of energy consumed - and wasted - in commercial buildings is increasing all the time. The … in numbers of items of electronic office equipment threatens to reach its maximum in the next ten years.
  -:  progress
   -: result
   +: growth
   -: count
3.  Выберите единственно правильный вариант.
     We all know that sea levels have been rising for the last 20 years, but the … of rise has increased rapidly in recent years.
  -: growth
   -: reason
   -: increase
   +: rate
4.  Выберите единственно правильный вариант.
    In recent years the amount of money earned by top sportsmen and women has risen and attracted a lot of media ….
  -: competition
   +: attention
   -: vision
   -: compensation
5. Выберите единственно правильный вариант.
   A wide variety of writers have won the award working in a … of fiction and non-fiction genres.
  +: range
   -: area
   -: source
   -: world
6. Выберите единственно правильный вариант.
     Globalisation connects people by … of communication and offers them new opportunities for travel, work and education.
  -:  media
   -: views
   +: means
   -: destruction
7. Выберите единственно правильный вариант.
   Much of the power of the Internet lies in the fact that people are developing new … to be creative and innovative, combining ideas and skills without an organization.
  -: network
   -: collaboration
   -: residents
   +: ways
8. Выберите единственно правильный вариант.
   A knowledge of differences between cultures, in an ever-shrinking globalized world, is becoming one of the essential key … that modern “citizens of the world” need to possess in order to work and learn effectively.
    -: means
   +: skills
   -: methods
   -: ways
9. Выберите единственно правильный вариант.
   Many people feel that onshore wind farms spoil the landscape, particularly in  countryside … where they are usually sited.
  +: areas
   -: spaces
   -: ranges
   -: roads

II Примеры задания 2  
1. Выберите единственно правильный вариант.
    The news from the Middle East … very encouraging. 
+: seems  
-:  seem
-:  is seeming  
-:  are seemed
2.  Выберите единственно правильный вариант.
    If I had known how difficult the job was, I … it. 
-:  don’t take 
-:  won’t take
-:  won’t have taken  
+:  wouldn’t have taken
3. Выберите единственно правильный вариант.
    There is little agreement … what caused the building to collapse. 
+: on  
-:  at
-:  by  
-:  in
4. Выберите единственно правильный вариант.
    The police warned everyone …inside with their windows closed. 
-: stay 
-:  stayed
+:  to stay  
-:  to be stayed
5. Выберите единственно правильный вариант.
    Every candidate said that … thought the interview was too long. 
-:  he  
+:  they
-:  she  
-:  them
6. Выберите единственно правильный вариант.
    Neither the President … his representatives are to attend the meeting. 
-:  no  
+:  nor
-:  or  
-:  not
7. Выберите единственно правильный вариант.
    Around 10 per cent of the forest …  each year. 
+: is destroyed
-:  are destroyed
-:  destroy  
-:  destroys
8. Выберите единственно правильный вариант.
    We … the car for 6 months before we discovered it was stolen. 
-: owned  
-:  had been owning
-:  was owned  
+:  had owned
9. Выберите единственно правильный вариант.
    The car broke down and we … a taxi. 
+: had to get 
-:  must have got
-:  had got to get 
-:  must get
III Примеры задания 3
1. Подберите по одному определению к каждому из данных понятий.
      L1: pollution
      L2: growth
      L3: education
      L4: edition
      R1: the process of making air, water, soil etc dangerously dirty
      R2: an increase in amount, number, or size
      R3: the process of teaching and learning
      R4: the form that a book, newspaper, magazine etc is produced in
      R5: the process of making something such as a business operate in a lot of 
       different countries all around the world
       R6: a general increase in world temperatures
2. Подберите по одному определению к каждому из данных понятий.

      L1: knowledge
      L2: culture
      L3: awareness
      L4: competition
      R1: the information, skills and understanding that you have gained through 
      learning and experience
      R2: the beliefs, way of life, art, and customs that you are shared and accepted
      by people in a particular society
      R3: knowledge or understanding of a particular subject or situation
      R4: a situation in which people or organizations try to be more successful than
      other people or organizations
      R5: a statement in which someone complains about something
      R6: the state of being complicated

3. Подберите по одному определению к каждому из данных понятий.

      L1: graduate
      L2: employee
      L3: trainee
      L4: teleworker
      R1: someone who has completed a university degree, especially a first degree
      R2: someone who is paid to work for someone else
      R3: someone who is being trained for a job
      R4: someone who works from home, and communicates with their employer
      and co-workers using the Internet, email and telephone
      R5: the people who work for an organization
      R6: working for yourself and not employed by a company

4.Подберите по одному определению к каждому из данных понятий.
        L1: article
        L2: report
        L3: memo
        L4: press release
        R1: a piece of writing about a particular subject in a newspaper or journal
        R2: an official document that carefully considers a particular subject
        R3: a short official note to another person in the same company 
         R4: an official statement giving information to the newspapers or television
          R5: a short description of the main events or ideas in a book, film etc
R6: a short piece of writing about a particular subject
IV Примеры задания 4
1. Заполните пропуски данными после текста словосочетаниями.
      Travelling by road is widely accepted as … (1) … to travel with far more deaths per kilometer than rail, sea or air. In fact, while road traffic injuries represent about 25% of worldwide injury-related deaths, … (2) … in the UK have been decreasing for some time, with last year’s figure standing at 3,150. We … (3) … why the number is decreasing, but why it seems impossible to eradicate fatalities completely.
       Over the years, different methods of … (4) …  have been tried. The Locomotive and Highways Act of 1865 … (5) … of speed limits to the motoring world. Since then, more and more ways of controlling the behavior of drivers have been introduced, … (6) … and traffic signals, as well as compulsory driver testing and licensing. These days, there are many more methods of enforcement, including speed cameras and fines for … (7) … . Another solution is to make cars themselves safer … (8) … .
1: being the most dangerous way
2: fatalities on the road
3: take a look at
4: reducing the number of crashes
5: introduced the idea
6: such as one-way streets
7: breaking motoring laws
8: in case of an accident

2. Заполните пропуски данными после текста словосочетаниями.
 Speech recognition (SR) is the method by which you can … (1) … to bring words up on the screen. It may have been … (2) …, but several European software companies have developed some wonderful SR software. The idea is not new – but it did take the business world a long time … (3) … . Dragon Systems invented it as far back as 1984, and although a one-person system cost $32,000 eight years ago, there are now excellent SR software packages … (4) … as little as $30.
    The new products are so amazing that four years ago, IBM’s speech recognition program was … (5) … for several weeks, even beating the most popular computer games of the time. Recognizing words and turning them into text may seem magic … (6) … , but it is even cleverer than that. If you … (7) … , you will notice that the system waits a fraction of a second before the words come up. There is a very good reason for that moment of hesitation: the system knows how words … (8) … !

1: talk to a computer
2: an American invention
3: to catch up with it
4: available for
5: at the top of the software-sales charts
6: in itself
7: pay close attention
8: go together
3. Заполните пропуски данными после текста словосочетаниями.
Office staff leave equipment switched on unnecessarily for … (1) … . These include fear of damaging the machine, … (2) … of the actual cost of running the machine, and just plain laziness. Failure to control … (3) … of office equipment is wasteful, and can lead to costs far higher than most managers realize.
The Energy Efficiency and Conservation Authority (EECA) is introducing a two-fold programme … (4) … saving the $55m which is wasted every year in the country’s offices. Office machines consume 400 GWh of energy per year, or about 1.5% of the country’s … (5) … . Further, the EECA now estimates that … (6) …. will double before the end of the decade. By this time, office machinery energy consumption is expected to be about 800 GWh … (7) … . Most PCs, printers and photocopiers are … (8) … for only about 40% of a working day.

1: a number of reasons
2: lack of knowledge
3: the energy usage
4: aimed at
5: total electricity consumption
6: the number of office machines
7: per year
8: fully utilize
[bookmark: _GoBack]
